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Fill in the blanks with the appropriate form of verbs (1 - 5): 
1. We__________ each other for ten years. 
  (1) knew (2) know (3) have been known (4) have known 
2. The train _____________ before I reached the station. 
  (1) was left      (2) shall leave     (3) is leave  (4) had left 
3. Rahul _______________ the Taj Mahal last year. 
  (1) has seen  (2) saw  (3) had seen  (4) see   
4. The boy started to run as soon as he ______the dog. 
  (1) saw (2) has seen (3) seen (4) had seen 
5. The man behaved as if he ___________ mad. 
  (1) was (2) were (3) is (4) been 
 
Fill in the blanks with appropriate determiners (6 - 9): 
6. ______of the students must speak in English. 
  (1) Any (2) More (3) Each (4) Every 
7.      This notebook is mine, but ______ pen is yours. 

(1) each    (2) that (3) some      (4) No determiner 
8. He didn't join us in the party as he had _______time for it. 
  (1) little (2) a little (3) the little (4) many 
9. _______ learning is dangerous 
  (1) Little (2) A little (3) The little (4) The Few 
 
Choose appropriate prepositions to complete the sentences (10 - 13): 
10. Nepal is a small country ______the north of India. 
  (1) with (2) by (3) at  (4) to 
11. What is the time_______ your watch? 
  (1) in (2) on (3) by (4) from 
12. Wise men never boast______ their wealth. 
  (1) for (2) of (3) in (4) with 
13. Respond ________ the roll call. 
  (1) into (2) towards (3) on (4) to 
 
Choose appropriate change of voice (14 - 17): 
14. They laugh at us.  

(1) We has been laughed.  (2) They laughed at me. 
(3) We are laughed at by them.  (4) They has been laughing. 

15. She is writing a letter.  
(1) A letter was written by her.  (2) A letter will be written by her. 
(3) A letter is written by her.  (4) A letter is being written by her. 

16. Can you solve the sum?   
  (1)Could the sum solved by you? (2)Can the sum be solve by you?  
  (3)Could the sum be solved by you? (4)Can the sum be solved by you? 
17.  Please post the telegram. 
  (1) You are ordered to post the telegram. (2) The telegram would be posted. 
  (3) You are requested to post the telegram. (4) It is a request to post the telegram. 
 
Choose the appropriate question tag (18 - 21): 
18. You are telling the truth, ...............? 
  (1) don’t you (2) do you (3) aren’t you (4) are you 
19. My friend doesn’t like sweets, .................? 
  (1) does he (2) do he (3) doesn’t he (4) has he 
20. They didn’t do the sum, ...............? 
  (1) doesn’t they (2) did they (3) does they (4) didn’t they 
21. You don’t like him, ................? 

(1) do you (2) will you (3) did you (4) didn’t you 
22. She eventually won the match by two goals. (Choose the synonym of the underlined word.) 
  (1) Somehow. (2) hardly. (3) ultimately. (4) successfully 

ENGLISH
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23. He hastily threw the dirty cat out of the house. (Choose the antonym of the underlined word.) 
  (1) intensely (2) slowly (3) hurriedly. (4) rapidly 
24. Select the synonym of the word ‘resist’:  
  (1) oppose (2) tolerate (3) kind (4) primary 
25. Select the antonym of 'expedite': 
  (1) postpone      (2) defer          (3) adjourn     (4) delay 
 
 
 
26. The frequency of a tuning fork is 350 Hz. Find how many vibrations it executes while the sound produced by it  
 travels a distance of 170 m (velocity of sound in air = 340 m/s) 
 350 170 

= 340 /  
  350 170 = 340  
 /
  (1) 172 (2) 185 (3) 182 (4) 175 
27. Which of the following sound waves cannot be heard by human? 
  
  
  (1) 20 Hz (2) 500 Hz (3) 15 Hz (4) 1500 Hz 
28. A boy of height 1.0 m, to see his own complete image, requires a mirror of length (in m) at least equal to: 
 1.0 ______  
 1.0  
  (1) 1.0/4 m (2) 1.0/3 m (3) 1.0/2 m (4) 0.4 m 
29. Tyres are made circular in shape, because 
  
   
  (1) they require less material.   
     /  
  (2) it is easy to inflate circular tyres.   
   /  
  (3) rolling friction is less than sliding friction.  
   /  
  (4) None of the above / /  
30. Read the given statements and select the correct option. 
  
  
 Statement 1: Sound travels faster on a rainy day than on a dry day. 
 (1):  
 (1):  
 Statement 2: Moisture increases the pressure. 
 (2):  
 (2):  
  (1) Both statements 1 and 2 are true and statement 2 is the correct explanation of statement 1. 
   1 2 2 1  
   1 2 2 1  
  (2) Both statements 1 and 2 are true but statement 2 is not the correct explanation of statement 1.  
   1 2 2 1  
   1 2 2 1  
  (3) Statement1 is true and statement2 is false. 
   1 2  
   1 2  
  (4) Both statements1 and 2 are false. 
   1 2  
   1 2  

GENERAL SCIENCE / / 
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31. Read the given statements and select the correct option. 
  
  
 Statement 1: It is difficult to drive a vehicle at high speed on a rainy day. 
 (1): 

(1): 
 Statement 2: Friction depends on the nature of surfaces in contact. 
 (2):  
 (2):  
  (1) Both statements 1 and 2 are true and statement 2 is the correct explanation of statement 1. 
   1 2 2 1  
   1 2 2 1  
  (2) Both statements 1 and 2 are true but statement 2 is not the correct explanation of statement 1.  
   1 2 2 1  
   1 2 2 1  
  (3) Statement1 is true and statement2 is false. 
   1 2  
   1 2  
  (4) Both statements1 and 2 are false. 
   1 2  
   1 2  
32. Why does a horse need to pull harder during the first few steps in pulling the cart? 
  
  
  (1) Static friction is greater than sliding friction. 
    
    
  (2) Sliding friction is greater than rolling friction. 
    
    
  (3) No frictional force acts after the cart comes in motion. 
    
    
  (4) Air friction is greater during first few steps of motion. 
    
    
33. When a constant force acts on a mass, and the mass starts moving from rest, then the 
 ______ 
  
  (i) acceleration is constant.  
   /  
  (ii) velocity increases at constant rate. 
     /   
  (iii) distance travelled is directly proportional to the time. 
      /  
 Which of the above statements is/are correct? 
 /  
  (1) (i) only / i  / i      
  (2) i and ii only / i ii / i ii  
  (3) i and iii only / i iii /   i iii 
  (4) ii and iii only / ii iii /  ii iii 
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34. A man standing in front of a large wall, claps two objects against each other at an interval of 1.2 s regularly. The 
 echo of the first clap coincides with the fifth clap. If the speed of sound in air is 340 ms
 man and the wall is. 
 

 
 

  (1) 408 m (2)
35. The diagram shows a man standing at a
 
  x

 When the man moves 3 m away from the mirror, the new distance between the man and his image becomes 
 12 m. What is the value of x? 
 3 

x
 3 
  (1) 1m (2)
36. A cube of side 0.2 m rests on the floor,
 the cube on the floor is _______.  (Take 10

 
0.2 

_______

 
0.2 

_______

  (1) 25 Nm–2 (2)
 
Direction (Q.No.37 and 38): Refer to the given passage and answer the following questions:

37 38
37 38

 Ram jogs from one end X to the other end 
 and jogs 100m back to point Z in another 1 minute
 300 2 
 Z
 300 X

1  
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A man standing in front of a large wall, claps two objects against each other at an interval of 1.2 s regularly. The 
echo of the first clap coincides with the fifth clap. If the speed of sound in air is 340 ms

1.2
 340 / –1

1.2 
 340 / –1 

(2) 1632 m (3) 816 m 
he diagram shows a man standing at a position M in front of a plane mirror at a distance of 

 x  M
M  

 
When the man moves 3 m away from the mirror, the new distance between the man and his image becomes 

12 x
(2) 2m (3) 3m 

A cube of side 0.2 m rests on the floor, as shown. Given that the cube has a mass of 50
)1Take 10g N kg−=

 

_______ 110g N kg −=
 

50 
_______ 110g N kg −=

 
(2) 250 Nm–2 (3) 1250 Nm–2 

): Refer to the given passage and answer the following questions:
 
 

to the other end Y of a straight 300 m road in 2 minutes 30 seconds, and then turns around 
in another 1 minute. 

30 X Y

Y 2 30 
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A man standing in front of a large wall, claps two objects against each other at an interval of 1.2 s regularly. The  
echo of the first clap coincides with the fifth clap. If the speed of sound in air is 340 ms–1, the distance between the  

1.2 

 (4) 204 m 
a distance of x m from the mirror. 

 

When the man moves 3 m away from the mirror, the new distance between the man and his image becomes  

12 

 
 (4) 4m 

50 kg, the pressure exerted by  

50 

 (4) 12500 Nm–2 

): Refer to the given passage and answer the following questions: 

300 m road in 2 minutes 30 seconds, and then turns around  

1 100  

100 Z
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37. What is Ram’s average speed and average velocity while jogging from 
 X Y
 X Y 
  (1) 1.0 ms–1, 1.0 ms–1  
  (3) 2.0 ms–1, 2.0 ms–1  
38. What is Ram’s average speed and average velocity while jogging from X to Z respectively?
 X Z
 X Z 
  (1) 2.0 ms–1, 1.9 ms–1  
  (3) 1.0 ms–1, 1.0 ms–1  
Direction: (Q.No.39 and 40) Refer the given passage and answer the following questions.

39 40
39 40

 A metre ruler is held Vertically in front of a plane Mirror of length 15 cm as shown in the given figure. A student 
 peeps through a hole at the 40 cm mark.
 15 

 15

39. The range of the scale of the metre ruler that can be seen is
 
 
  (1) 10 cm to 40 cm  
  (3) 20 cm to 50 cm  
40. If the hole is at 80 cm mark of the scale, then the range of the metre ruler that can be seen in the mirror is
 80 
 80 
  (1) 10 cm to 40 cm  
  (3) 30 cm to 60 cm  
41. Find acceleration of object due to forces acting 
 
 

  (1) 2 m/s2   / 2 / 2 / 2 / 2  
  (3) 1.25 m/s2 / 1.25 / 2/ 1.25 
42. A light ray is incident on a plane mirror, which after getting reflected strikes another 
 figure. The angle between the two mirrors is 
 

 
60 ‘θ ’ 
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What is Ram’s average speed and average velocity while jogging from X to Y respectively?
 

 
 (2) 3.0 ms–1, 2.0 ms
 (4) 4.0 ms–1, 1.0 ms

What is Ram’s average speed and average velocity while jogging from X to Z respectively?
 

 
 (2) 5.1 ms–1, 9.1 ms
 (4) 1.9 ms–1, 0.9 ms

given passage and answer the following questions. 
 
 

uler is held Vertically in front of a plane Mirror of length 15 cm as shown in the given figure. A student 
peeps through a hole at the 40 cm mark. 

15 

 
the scale of the metre ruler that can be seen is 

 
  

 (2) 15 cm to 45 cm 
 (4) None of these / 

If the hole is at 80 cm mark of the scale, then the range of the metre ruler that can be seen in the mirror is

 (2) 20 cm to 50 cm 
 (4) None of these / 

Find acceleration of object due to forces acting on the object according to diagram shown.
 

 

 
 (2) 1 m/s2 / 1 / 2

1.25 / 2 (4) 1.5 m/s2  / 1.5 /
A light ray is incident on a plane mirror, which after getting reflected strikes another 
figure. The angle between the two mirrors is 60 . Find the angle ‘θ ’ shown in figure.

60 ‘θ ’  

 

Smooth Surface / 
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respectively?  

–1  
–1 

What is Ram’s average speed and average velocity while jogging from X to Z respectively? 

–1  
–1 

 

uler is held Vertically in front of a plane Mirror of length 15 cm as shown in the given figure. A student  

40 

40 

  
/  

If the hole is at 80 cm mark of the scale, then the range of the metre ruler that can be seen in the mirror is – 
 
 

  
/ 

on the object according to diagram shown. 

2 / 1 / 2   
/ 2/ 1.5 / 2  

A light ray is incident on a plane mirror, which after getting reflected strikes another plane mirror, as shown in 
’ shown in figure. 

/  
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  (1) 60  (2) 30  (3) 45  (4) 90

 
43. A particle under the action of a constant force moves from rest upto 20 seconds. If the distance covered in first 10 
 seconds is 1s and that covered in next 10 seconds is 2s then 

 20 10 1s
10 2s  

 20 10 1s 10  

 2s  

  (1) 1 2s s=   (2) 2 13s s=  (3) 2 12s s=  (4) 2 14s s=  
44. An object of mass 2 kg is sliding with a constant velocity of 4 m/s on a frictionless horizontal table. The force 
 required to keep the object moving with the same velocity is  
  2 4 /

 
 2 4 /

  (1) 32 N (2) 0 N (3) 2 N (4) 8 N 
45. Three particles P, Q and R are situated at point A on the circular path of radius 10 m. All three particles move along 
 different paths and reach point B as shown in figure. Then the ratio of distance traversed by particles P and Q is  
 10 A P, Q R

B P Q  
 P, Q R 10 A B

P Q  

 

  (1) 
3
4

 (2) 
1
3

 (3) 
3
4
π

 (4) 
3
π

 
46. Generally metallic oxides are basic and non-metallic oxides are acidic in nature. Solution of which of the following 
 oxides in water will change the colour of blue litmus to red?  
 

 
 

 
  (1) sulphur dioxide / /   
  (2) magnesium oxide /  /   
  (3) iron oxide / /    
  (4) copper oxide / /  
47. Magnesium ribbon on burning in air produces 
 ________  
 ________ 
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  (1) magnesium oxide, water and light   
   /  
  (2) magnesium oxide and heat   
   /  
  (3) magnesium oxide, heat and light   
   /  
  (4) magnesium oxide, water and heat   
   /  
48. Choose the incorrect statement from the following. A good fuel is one which: 
  
  
  (1) is readily available. / /    
  (2) produces a large amount of heat. / /  
  (3) leaves behind many undesirable substances.  
   /   
  (4) burns easily in air at a moderate rate. 
   /  
49. Which of the following groups contain all synthetic substances? 
  
  
  (1) Nylon, Terylene, Wool / /  
  (2) Cotton, Polycot, Rayon / /   
  (3) PVC, Polythene, Bakelite / /  
  (4) Acrylic, Silk, Wool / /  
50. Match the Columns / /  
   Column I / I   Column II / II 
  a. Teflon /   (i) Used to make carpets  
       

 
  b. Terywool / /   (ii) Tougher than polythene, used to cover wire. 
        

  c. PVC / /   (iii) High melting point, very low friction  
        

  d. PET /   (iv) Used for making soft drink bottles. 
         
         
  (1) a–iv, b–iii, c–ii, d–i  (2) a–iii, b–i, c–ii, d–iv  
  (3) a–iii, b–i, c–ii, d–iv  (4) a–iii, b–ii, c–i, d–iv 
51. Read the given statement and select the correct option: 
 :

:
 Statement 1: Bakelite is used for making electric switches and plugs 
 1:  
 1:  
 Statement 2: It is a thermosetting polymer and an insulator 
 2:  
 2:  
  (1) Both statement 1 and statement 2 are true and statement 2 is the correct explanation of statement 1. 
   1 2 2 1  
   1 2 2 1 
 



8                                                       Admission Test - 2024  /  AS40  / Date – 24-12-2023  /    Booklet Series – A   / CS – IX  

 

  (2) Both statement 1 and 2 are true but statement 2 is not the correct explanation of statement 1.  
   1 2 2 1  
   1 2 2 1  
  (3) Statement 1 is true but statement 2 is false. 
   1 2  
   1 2  
  (4) Both statement 1 and statement 1 are false. 
   1 2  
   1 2 
52. Match the Columns / /  
  Column I / I   Column II / II 
  a. Na + O2  (i) NaOH  
  b. Na + H2O  (ii) Na2SO4+ H2 
  c. Na + H2SO4  (iii) NaCl + H2  
  d. Na + HCl  (iv) Na2O 
  (1) a–iii, b–iv, c–i, d–ii  (2) a–iii, b–ii, c–i, d–iv  
  (3) a–i, b–iii, c–iv, d–ii  (4) a–iv, b–i, c–ii, d–iii 
53. Four experiment set – ups are shown in the given figure: 
 : 
 : 

 
 No reaction will take place in beakers (s) 
 ________  
 ________  
  (1) II only / II  
  (2) I and IV only / I IV / I IV  
  (3) I and II only / I II /  I II  
  (4) III and IV only / III IV /  III IV  
54. Match the Columns  / /  
  Column I / I   Column II / II 
  a. Coal tar   (i) Metalling the roads 

/ /  
  b. Petrol  (ii) Manufacture of steel 
   / 
  c. Coal gas  (iii) Source of heat 
   / / 
  d. Bitumen  (iv) Vaseline 
   / 
  e. Coke  (v) Naphthalene balls 
      / 
  f. Paraffin wax  (vi) Dry cleaning 
   /  
  (1) a–v, b–vi, c–iii, d–i, e–ii, f–iv (2) a–i, b–iv, c–iii, d–ii, e–v, f–vi  
  (3) a–iii, b–v, c–i, d–iv, e–ii, f–vi (4) a–iv, b–i, c–vi, d–iii, e–v, f–ii  
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55. Which of the following fuel has highest calorific value? 
  
  
  (1) Petrol /   (2) Hydrogen /   
  (3) LPG /   (4) Natural Gas / /  
56. Assertion (A): A person sleeping in a closed room with burning coal, feels suffocated after some time. 
 (A):  
 (A):  
 Reason (R): In a closed room, carbon monoxide is produced which is poisonous gas. 
 (R):  
 (R):  
  (1) Both A and R are true and R is the correct explanation of A. 
   A R R A  
   A R R A  
  (2) Both A and R are true but R is not the correct explanation of A. 
   A R  A R  
   A R R, A  
  (3) A is true but R is false. 
   A R  
   A R  
  (4) Both A and R are false. 
   A R  
   A R
57. Match the Columns I with Column II /  I  II /  I  II
  Column I / I   Column II / II 
  a. Outermost zone of flame  (i) Buildings, crops 
    
     
  b. Acid Rain  (ii) Least hot 
   / /   
  c. Innermost zone of flame  (iii) Carbon dioxide 
       
    
  d. Global warming   (iv) Hottest zone 
       / 

 (1) a–ii, b–i, c–iii, d–iv  (2) a–ii, b–i, c–iv, d–iii  
  (3) a–iv, b–i, c–ii, d–iii  (4) a–i, b–ii, c–iii, d–iv 
58. Read the given statement carefully. 
 

 P : I am the most common fire extinguisher but not suitable for oil, petrol and electrical fires. 
 P :  
 P :  
 Q : I am an excellent fire extinguisher and most suitable for oil, petrol and electrical fires. I also form a blanket  
  around the fire and bring down the temperature of the fuel. 
 Q : 

 Q :  
 

     P   Q 
  (1) CO2 H2O   
  (2) H2O CO  
  (3) O2 CO2 
  (4) H2O CO2 
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59. Metals that are kept in kerosene are : 
 ________ 
  
  (1) Gallium and phosphorous / /   
  (2) Potassium and sodium / /   
  (3) Phosphorous and potassium / /   
  (4) Sodium and phosphorus / /  
60. Identify the type of plastic that can be best used to make electrical switches. 
  
  
  (1) PVC / /   (2) Polythene /   
  (3) PET /   (4) Bakelite /  
61. Which of the following statement is correct? 
 /  
  (i) Most synthetic fibres are obtained from coal, petroleum and natural gas. 
    
    
  (ii) Acrylic fibres closely resemble wool. 
   /  
  (iii) Most synthetic fibres have high moisture absorbing capacity. 
    
    
  (iv) Polyester is prepared from cellulose. 
    
    
  (1) i and ii only  / i  ii / i  ii 
  (2) ii and iii only /  ii  iii /  ii  iii 
  (3) iv only / iv /  iv   
  (4) All of these / /  
62. The lowest temperature at which a substance catches fire is called 
 ________  
 ________  
  (1) Critical temperature / /   
  (2) Ignition temperature / /   
  (3) Room temperature /  /   
  (4) None of these / /  
63. Observe the given figure. In fig. (b) What does the circular blackish ring formed on the glass slide indicate? 
 (b) �াইডত  
 (b) �াইেড  

 
  (1) Incomplete combustion of carbon particles in the outer blue zone of the flame 
    
    
  (2) Deposition of unburnt carbon particles present in the luminous zone of the flame 
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  (3) Deposition of unburnt wax particles present in the non-luminous zone of the flame 
    
    
  (4) Partial combustion of wax in the yellow middle zone of the flame 
    
    
64. Pickles are not stored in aluminium containers because – 
  
  
  (1) Steel has chromium which is poisonous 
    
    
  (2) Aluminium takes up oxygen from pickles and spoils it 
    
    
  (3) Pickles have acids which can corrode iron and aluminium making pickles poisonous 
    
    
  (4) None of the above / /  
65. Which one of the following is the correct order for the reactivity of metals? 
  
  
  (1) Na > Mg > Fe > Au  (2) Na > Au > Fe > Mg  
  (3) Mg > Fe > Na > Au  (4) Mg > Na > Fe > Au 
66. The unwanted plants that grow along with the crops are called  
 ______  
 ______  
  (1) fertilizers / /  (2) manure / /   
  (3) weeds /  /   (4) kharif crops /  /  
67. Deforestation leads to– 
   
    
  (1) an increase in the temperature of the earth /  /  
  (2) imbalance of 2O and 2CO / 2O  2CO / 2O 2CO   
  (3) increase in rainfall / 
  (4) both (1) and (2) / (1) (2) / (1) (2)  
68. Nucleus is separated from cytoplasm by 
 _____  
 _____  
  (1) nuclear membrane /  /  (2) nucleoplasm /   
  (3) organs /   (4) cell membrane /  /  
69. After fertilisation, the ________ divides repeatedly to give rise to a ball of cells. 

_____  
 ______  
  (1) Ovum /   (2) Sperm /   
  (3) Zygote / /   (4) Embryo /   
70. Paramecium reproduces by dividing itself into two daughter cells. This process is called 
 _____  
 
  (1) Budding /  /  (2) Regeneration / /  
  (3) binary fission /   (4) vegetative propagation / / 
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71. Chlorofluorocarbon is used in– 
 _____  
 _____ 
  (1) Refrigerators /   
  (3) Perfumes /   
72. ________ control the changes occurring during adolescence.
 _____
 ________
  (1) Hormones /  /   
  (3) Lymph /   
73.  The bacterium present in curd is: 
  
  
  (1) Salmonella typhi / 
  (3) Penicillin / / 
74.  Identify the agricultural process shown in the figure and select the correct statement regarding it.
 
 

 (1) In this process, grains are separated from the stalks
  
  
 (2) In this process, grains are separated from chaff. 
  
  
 (3) This process is done to increase the fertility of the soil.
  
  
 (4) In this process the crop is dried so that it can be stored for a longer period of time.
  
  
75.  The process shown in the figure is: 
  
  

   
  (1) Harvesting / / 
  (3) Winnowing / / 
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 (2) Air conditioners / 
 (4) All of the above / 

control the changes occurring during adolescence. 
_____  

________
 (2) Enzymes /  / 
 (4) None of the above / 

 / (2) Lactobacillus /
 (4) Vibrio Cholera /

Identify the agricultural process shown in the figure and select the correct statement regarding it.
 

 

 
ains are separated from the stalks.  

 
 

ted from chaff.  
 

 
(3) This process is done to increase the fertility of the soil. 

  
(4) In this process the crop is dried so that it can be stored for a longer period of time.

 

 

 (2) Threshing /
 (4) Ploughing / 

/    Booklet Series – A   / CS – IX  

/  
 /  

  
/  

 /  
/  

Identify the agricultural process shown in the figure and select the correct statement regarding it. 

(4) In this process the crop is dried so that it can be stored for a longer period of time. 

/   
 / 
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76.  Given below is a list of few crops. 
 /  
 
 
 
 
  
 How many of these are rabi crops? 
 /  
  (1) 2 (2) 3 (3) 4 (4) 5 
77.  Refer to the given Venn diagram and select the correct statement regarding X.  
 X  
 X  

 
 (1) Deforestation could reduce excessive amount of X in atmospheric air.    

   X  
   X   
  (2) X is produced by burning of fossil fuels. 
   X  
   X  
  (3) X could react with ozone gas of the atmosphere and destroy it gradually. 
   X  
   X  
  (4) Inhaling excessive X could cause bronchitis and lung cancer. 
   X  
    X  
78.  Refer to the given classification chart and select the correct option regarding P and Q. 
 P  Q  
 P Q  

 
 

Paddy, Soyabean, Pea, Mustard, Cotton, Wheat 
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79.  Reproductive age in women starts when their : 
  
 : 
  (1) menstruation starts /  /   
  (2) breasts start developing /  /  
  (3) body weight increases /  /   
  (4) height increases /  /  
80.  Adam’s apple is 
  
  
  (1) enlarged larynx /  /   
  (2) mammary glands /   
  (3) red apple / /   
  (4) All of the above /  /  
81. Which of these nutrients helps in growth of muscles? 
  
  
  (1) Pulses and Soyabeans /  /   
  (2) Fish and Meat /  /   
  (3) Eggs and milk / /   
  (4) All of the above /  /
82. Green leafy vegetables has __________. Absence of these nutrients in the body can cause_________. 
 ______ _______  
 __________ __________  
  (1) Vitamin A; Night blindness / A; /  A;  
  (2) Phosphorus; Rickets / ; / ;  
  (3) Iodine; Goiter / ;    
  (4) None of the above / / 
83. In which of the following animals, metamorphosis is seen?  
   
 
  (1) Moth / /   (2) Silkworm /  /   
  (3) Butterfly / /   (4) All of the above /  /  
84. The male and female sex hormone is respectively known as–  
 /  
  (1) Adrenaline and Estrogen / /  
  (2) Progesterene and Insulin / /  
  (3) Testosterone and estrogen respectively / /  
  (4) Estrogen and testosterone respectively / /  

 P Q 
1 Flood / /  Cleaning land for mining 

/  
2 Cutting trees for making furniture 

 

Volcanic eruption / / 
 

3 Forest fire /  /  Cutting trees for producing land for cultivation. 
/  

4 Volcanic eruption 
 

Pathogenic diseases of plants.  
/  
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85. Excess of 2CO in the air is one of the primary cause for the occurrence of ____________ 

 _______ 2CO  

 2CO  ____________  
  (1) Global warming /   
  (2) Acid rain /  /  
  (3) Soil pollution / /   
  (4) Air pollution /  / 

 
 
86. 40% of [100 – 20% of 300] is equal to: 
 [100 – 20%  300] 40%  / [100 – 20% 300] 40%   
  (1) 20 (2) 16 (3) 140 (4) 64 
87. A sum is taken for two year at 16% p.a. If interest is compounded after every three month. Then the number of 
 times for which interest is charged in 2 years is: 
 16% 

 16% 

  (1) 8 (2) 4 (3) 6 (4) 9 
88. To gain 25% after allowing a discount of 10% the shopkeeper must mark the price of article which cost him Rs. 
 360 as____ 
 360 10% 25%  
 360 10% 25%

____
  (1) 500 (2) 450 (3) 460 (4) 486 

89. Factorise x2 – 
13 1  
24 12

x −
 

 
x2 – 

13 1  
24 12

x −   /
  
x2 – 

13 1  
24 12

x −
  

  (1) ( )( )1 3x  2 8x + 1
24

−   (2) ( )( )1 3x  2 8x + 1
8

−   

  (3) ( ) ( )1 3x + 2 8x + 1
24

  (4) ( )( )1 3x  2 8x  1
24

− −
 

90. The ratio of a two digit number and the sum of the digits is 4:1. If the digit in the units place is 3 more than the digit 
 in the tents place, then the number is: 
 4:1 3 

 
 4:1 3  
  
  (1) 24 (2) 36 (3) 27 (4) 34 

91. If p 51 4q 1 31 11
2

= +
+

+
+

where p, q have no common factors, then p + q is: 

 p 51 4q 1 31 11
2

= +
+

+
+

p, q  p + q   

GENERAL MATHEMATICS  / /  
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 p 51 4q 1 31 11
2

= +
+

+
+

 

p, q p + q = ? 

  (1) 29 (2) 36 (3) 27 (4) 34 

92. x is 
11
6

 of  
33
4

 and y is 
12
3

 of  
12
6

  Then: 

  x
33
4  

11
6

; y
12
6  

12
3

 /   x
33
4  

11
6

; y
12
6

12
3  

 

  (1) 2x = y (2) y < x        (3) x < y       (4) x = y 
93. If a = 2012, b = 2011, c = 2010 then the value of a2 + b2 + c2 – ab – bc – ca is: 
 a = 2012, b = 2011, c = 2010 a2 + b2 + c2 – ab – bc – ca  
 a = 2012, b = 2011, c = 2010 a2 + b2 + c2 – ab – bc – ca = ? 
  (1) 0 (2) 2012 (3) 3 (4) 4024 
94. 1.7 × 1.7 + 0.7 × 0.7 – 2 × 1.7 × 0.7 = 
  (1) 1 (2) 2 (3) 0 (4) –1 

95.  If 
1296  = 

2.25
x

x
, then the value of x is: 

 
1296  = 

2.25
x

x
x /  

1296  = 
2.25

x
x  

x = ? 

  (1) 0.9 (2) 0.09 (3) 9 (4) 1.9 
96. The diagonals of a parallelogram ABCD intersect at O. If BOC = 90°∠ and BDC = 50°∠ , then ACD∠ is:  
 ABCD O BOC = 90°∠ BDC = 50°∠ ACD∠  
 ABCD O BOC = 90°, BDC = 50°∠ ∠  ACD∠ = ? 
  (1) 10o (2) 40o (3) 50o (4) 90o 

97. The integer which when multiplied by –1 and divided by –9 results into reciprocal of that integer is: 
 –1 –9  
 –1 –9 
  (1)  ± 1 (2) ± 2 (3) ± 3 (4) ± 4 

98. Solve: 
4x + 17 13x - 2 x 7x x + 16+ =

18 17x - 32 3 12 36
− −

 

 
:

4x + 17 13x - 2 x 7x x + 16+ =
18 17x - 32 3 12 36

− −
  
/
  

:
4x + 17 13x - 2 x 7x x + 16+ =

18 17x - 32 3 12 36
− −

 
  (1) 1 (2) 2 (3) 3 (4) 4 
99. A bus and a bike start from a point and travel 27 km. The bus stops every 9 km and the bike makes stops every 6 
 km. How far are they from the destination before they stop together for the last time before reaching the 
 destination? 
 27 9 

6  
 27 9 6 

 
  (1) 3 km (2) 6 km (3) 9 km (4) 12 km 
100. In the first week of July, 2020 there were 1400 covid –19 positive cases in Guwahati; while in the entire month of 
 July there were 6200 covid –19 positive cases in Patna. Then, the ratio of average daily cases of covid –19 in 
 Guwahati to that in Patna during July is approximately: 
 2020 –19 1400  

–19  6200,   

 2020 1400 –19 6200 
–19  

  (1) 1 : 2 (2) 2 : 7 (3) 7 : 2 (4) 1 : 1 
 



17                                                       Admission Test - 2024  /  AS40  / Date – 24-12-2023  /    Booklet Series – A   / CS – IX  

 

101. If 4 x−  = 16, then x is: 
 4 x−  = 16 x /    4 x−  = 16 x = ? 
  (1) 2 (2) –2 (3) 0 (4) 4 
102. The value of  3 3343 64× −  is: 

 3 3343 64× −  /   3 3343 64× − : 
  (1) 28 (2) –28 (3) 18 (4) –18 
103. How many metres of a carpet 60 cm wide will be required to cover the floor of a room which is 18 metres long and 
 15 metres broad? 
 18 15 60 

 
 18 15 60  
  (1) 320 m (2) 360 m (3) 420 m (4) 450 m 
104. Find y in the following figure: 
 y-  
 y-  

 
  (1) 40o (2) 120o (3) 140o  (4) 130o 
Comprehension (105 and 106)  
A quadrilateral having one pair of opposite sides parallel and the other pair of opposite sides nonparallel is called a 
trapezium. If the two non – parallel sides of a trapezium are equal in length, then it is called an isosceles trapezium.  

105 106

105 106

105. In the trapezium ABCD with AB || CD, we have 
 ABCD AB || CD  
 ABCD AB || CD  
  (1) 90A D∠ + ∠ =    (2) 180A D∠ + ∠ =    
  (3) 360A D∠ + ∠ =    (4) 45A D∠ + ∠ =    
106. In the isosceles trapezium PQRS with PQ || RS and QR = PS, Which of the following is correct? 
 PQRS PQ || RS QR = PS  
 PQRS PQ || RS QR = PS  
  (1) 900 and 1800P S Q R∠ +∠ = ∠ +∠ =  (2) PS = QR and PR = QS 
  (3) andP Q R S∠ =∠ ∠ =∠   (4) All of the above /  /  
107. The area of a trapezium with parallel sides 17 cm and 13 cm and the height 7 cm is –  
 17 13 7  
 17 13 7  
  (1) 105 cm (2) 105 cm2 (3) 70 cm2 (4) 70 cm 
108. The simple interest on Rs. 3600 at 10% per annum for 2 years is– 
 10% 3600 2  
 10% 2 3600  
  (1) Rs. 180  (2) Rs. 360  
  (3) Rs. 720  (4) Rs. 540 
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109. If the parallel sides of a parallelogram are 3 cm apart and their sum is 14 cm,
 
 3 
  (1) 42 cm2 (2) 21 cm
110. From each vertex of a polygon, all diagonals are drawn. If exactly nine diagonals are
 drawn? 

 
  (1) Hexagon /   
  (3) Pentagon /   
111. Find the area of the shaded portion. 
  
  

  (1) 36 cm2  
  (3) 35 cm2  
112. The range of data 30, 61, 55, 56, 60, 20, 26, 46, 28, 56 is
 30, 61, 55, 56, 60, 20, 26, 46, 28, 56 
 30, 61, 55, 56, 60, 20, 26, 46, 28, 56
  (1) 26 (2)
113. Amount when interest is compounded half
 
 

  (1) 1
100

nRp  + 
 

 (2)

114. Which of the following quadrilaterals has two pairs of adjacent sides equal and its
 
 
  (1) Square /   
  (3) Rectangle /   
115. ABCD is a rectangle and AC & BD are its diagonals. If AC
 ABCD AC BD 
 ABCD AC BD
  (1) 10 cm  
  (3) 12 cm  
116. Find area of the shaded portion. 
  
  

  (1) 108 cm2  
  (3) 216 cm2  

Admission Test - 2024  /  AS40  / Date – 24-12-2023  /  

If the parallel sides of a parallelogram are 3 cm apart and their sum is 14 cm, then its area is ______.
3 14 

14 
(2) 21 cm2 (3) 34 cm2 

of a polygon, all diagonals are drawn. If exactly nine diagonals are 

 (2) Octagon / 
 (4) Heptagon / 
 

 

 
 (2) 38 cm2 
 (4) 30 cm2 

The range of data 30, 61, 55, 56, 60, 20, 26, 46, 28, 56 is 
30, 61, 55, 56, 60, 20, 26, 46, 28, 56  
30, 61, 55, 56, 60, 20, 26, 46, 28, 56  

(2) 61 (3) 30 
Amount when interest is compounded half-yearly– 

 
 

(2) 
2

1 1
200

nRp
  + −  
   

 (3) 
2

1
100

n

Rp  + 
 

 

following quadrilaterals has two pairs of adjacent sides equal and its diagonals intersect at 90
90o

 
 (2) Kite / / 
 (4) All of these / 

ABCD is a rectangle and AC & BD are its diagonals. If AC = 10 cm, then BD is: 
AC = 10 BD

AC = 10 BD = ? 
 (2) 5 cm 
 (4) 20 cm 

 

 
 (2) 54 cm2 
 (4) None of these / 

/    Booklet Series – A   / CS – IX  

then its area is ______. 
 

 
 (4) 22 cm2 

 drawn, which polygon is  

 
 

  

  

 (4) 41 

 
 
 

 (4) 
2

1
200

nRp  + 
   

diagonals intersect at 90o? 
 

 / 

 

  

  
/ 
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117. The factors of 2 12 45x x+ − is – 
 2 12 45x x+ −  
 2 12 45x x+ −    
  (1) ( )( )15 3x x+ −  (2)

118. 
2 2

25 36
a b

− =   

  (1) 
5 6 5 6
a b a b  + +  

  
  

  (3) 
5 6 5 6
a b a b  + −  

  
  

119. The value of 2 4 324 12p q r pqr÷ is – 
 2 4 324 12p q r pqr÷   
 2 4 324 12p q r pqr÷   

  (1) 2pq3r2 (2)

120. In a right angled triangle 90 .B∠ =   
 90 ;B∠ =   AB = 6
 90B∠ =  B = 6 
  (1) 12 cm  
  (3) 10 cm  
121. The graph below shows the number of 
 
 

  Based on the graph, how many more sunny days than rainy days in a city during four months
  
  
  (1) 8, 13 and 17 / 8, 13 17 / 
  (3) 9, 12 and 16 / 9, 12 16 / 
122. Each interior angle of a polygon is135
 135
 
  (1) 7 (2) 8
123. The population of a city was 20,000 in the year 199
 year 2000. 
 1999 20,000

 
 1999 20,000
  (1) 22000 (2)
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(2) ( )( )15 3x x− −  (3) ( )( )15 3x x+ +  

  

 (2) 
2

5 6
a b − 

 
 

 (4) 
25 36 25 63
a b a b  + −  

  
 

(2) 3pq3r2 (3) 3 21
2

pq r  

90 .  If AB = 6 cm, BC = 8 cm, then find AC. 
AB = 6  BC = 8 AC 

B = 6   BC = 8  AC = ? 
 (2) 14 cm 
 (4) 2 cm 

The graph below shows the number of sunny days and rainy days in a city during four months.
 

Based on the graph, how many more sunny days than rainy days in a city during four months

 
/ 8, 13 17 (2) 7, 13 and 17 / 7, 13 
/ 9, 12 16 (4) None of these / 

135 . How many sides does it have? 
135  

135  
(2) 8 (3) 6 

The population of a city was 20,000 in the year 1999. It increased at the rate of 5% p.a. Find the population at the end of the 

20,000, 5%

20,000 5% 2000 
(2) 23000 (3) 20005 

/    Booklet Series – A   / CS – IX  

15 3  (4) ( )( )15 3x x− +  

  

25 36 25 63
a b a b  + −  

    

 (4) 2p3q3r2 

 

  

sunny days and rainy days in a city during four months. 

 
Based on the graph, how many more sunny days than rainy days in a city during four months 

 

7, 13 17 / 7, 13 17 
/  

 (4) 10 
the population at the end of the  

2000 

 
 (4) 21000 
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124. Rahul takes a rational number and subtract 1 from the twice of the number and then add 5
4

 to the result to get 19
12

.  

 What is the rational number? 

 1
5
4

19
12

 

 1 
5
4

19
12  

 

  (1) 2
3

 (2) 1
3

 (3) 3
2

  (4) 2
5  

125. The sum of numerator and the denominator of a fraction is 12. If the denominator is increased by 3, the fraction  

 becomes 1
2

. Find the fraction. 

 12, 3 
1
2

 

 12 3 
1
2

 

  (1) 7
12

 (2) 5
7

 (3) 7
5

 (4) 5
12  

 
 
 
 
126. In a certain code language, RUSTICATE is written as QTTUIDBSD. How would STATISTIC be written in that  
 code. 
 RUSTICATE QTTUIDBSD STATISTIC

 
 RUSTICATE QTTUIDBSD STATISTIC  
  (1) RSBUJTUHB (2) RSBUITUHB (3) RSBUIRSJD (4) TUBUITUMB 
127. Pointing towards a person, a man said to a woman “His mother is the only daughter of your father.” 
 How is the women related to that person? 
 

 
 

 
  (1) Daughter /   (2) Sister / /   
  (3) Mother /   (4) Wife / /  
128. If ‘+’ means ‘minus’, ‘×’ means ‘divided by’, ‘÷’ means ‘plus’ and ‘–’ means ‘multiplied by’,  then which of the  
 following will be the value of the expression 252 × 9 – 5 + 32 ÷ 92? 
 ‘+’ ‘×’ ‘÷’ ‘–’ 252 × 9 – 5 + 32 ÷ 92  
 ‘+’ ‘×’ ‘÷’ ‘–’ 252 × 9 – 5 + 32 ÷ 92 = ?  
  (1) 77 (2) 160 (3) 240 (4) 200 
129. There are some benches in a classroom. If 4 students sit on each bench, then 3 benches are left unoccupied.  
 However, if 3 students sit on each bench, 3 students are left standing. How many students are there in the class? 
 4 3 

3 3  
 4 3 3 

3  
  (1) 36 (2) 48 (3) 56 (4) 64 
130. If 2 2 4 1,4 2 8 2,↑ → = ↑ → = then what will be the value of 6 2 4 ?↑ → =  

 2 2 4 1,4 2 8 2,↑ → = ↑ → = 6 2 4↑ →  
 2 2 4 1,4 2 8 2,↑ → = ↑ → = 6 2 4↑ →  
  (1) 9 (2) 10 (3) 8 (4) 12 

GK & REASONING / / 
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Read the following information to answer Q 13
Q 131 Q132 
Q 131 Q132 
 A bag contains coins of four different denominations, viz. 1 rupee, 50 
 as many 50 – paise coins as the value of 25 
 value of 50 – paise coins. The total of the number of coins in the bag is 325. 
 
 50 
 

50 
131. How many 10 – paise coins are there?
 10 / 10 
  (1) 25 (2)
132. What is the value of 50 – paise coins?
 50 / 50 
  (1) Rs. 10 (2) Rs. 
133. Find the next number in the sequence 
 0, 2, 24, 252 
 0, 2, 24, 252 
  (1) 620 (2) 1040
134. Which is the correct NhRqSy image
 NhRqSy

  (1)  (2)
135. Mirror image of the given figure when mirror is placed along the line AB 
 AB
 AB

   
 
  (1) (2)
 
 
136. Find out the correct letter pair from the options, to 
 established between the sets given below
 
 

 RT : WZ : : ___________ : ___________ .
  (1) AC : RU (2)
137. A tourist drives 10 km towards east and turns to
 (turning to his right) 3 km. He then turns to his left and drives 2 km. Finally he turn
 How far is he from his starting point and in which direction would he be?
 10 

3 

 10 
3 

7 
  (1) 4 km, East / 4 
  (2) 5 km, South / 5 
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answer Q 131 and Q 132 

A bag contains coins of four different denominations, viz. 1 rupee, 50 – paise, 25 – paise and 10 
paise coins as the value of 25 – paise coins in rupees. The value of 1 – rupee coins is 5 times the
paise coins. The total of the number of coins in the bag is 325.  

1 50 25 10 50 
5 1 

1 50 25 10 50 
5 1 

paise coins are there? 
 

(2) 50 (3) 75 
paise coins? 

 
(2) Rs. 15 (3) Rs. 20 

Find the next number in the sequence 0, 2, 24, 252, ? 
 

 
(2) 1040 (3) 3120 

mage from the given four images? 
/  NhRqSy

(2)  (3)  
Mirror image of the given figure when mirror is placed along the line AB is _______. 

 
 

 

(2) (3) 

ct letter pair from the options, to denote the same relationship among the group of letters as 
ed between the sets given below. 

RT : WZ : : ___________ : ___________ . 
(2) AB : PW (3) PR : LM 

A tourist drives 10 km towards east and turns to the right hand and drives 3 km. Then he drives towards west 
. He then turns to his left and drives 2 km. Finally he turns to his right and travels 7 km

m his starting point and in which direction would he be? 
3 

 2 
 

3 
2 

/ 4  
/ 5   
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paise and 10 – paise. There are 
rupee coins is 5 times the 

25  
325  

25 
325  

 (4) 100 

 (4) Rs. 30 

 (4) 5430 

 (4)  

 (4) 

denote the same relationship among the group of letters as  

 

 (4) TU : WX 
. Then he drives towards west  

s to his right and travels 7 km.  

7 
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  (3) 3 km, West / 3 / 3    
  (4) 2 km, South / 2 / 2  
138. If ‘FRIHH’ stands for ‘COFFEE’, how will you write ‘NOODLES’? 
 ‘FRIHH’ ‘COFFEE’ ‘NOODLES’  
 ‘FRIHH’ ‘COFFEE’ ‘NOODLES’  
  (1) RSSHPIV (2) RSSHPIW (3) PQQFNGU (4) QRRGOHV 
139. If ‘ROSE’ stands for ‘TRWJ’, how will you write ‘LOTUS’? 
 ‘ROSE’  ‘TRWJ’ ‘LOTUS’  
 ‘ROSE’  ‘TRWJ’ ‘LOTUS’  
  (1) NRXZY (2) MRXYZ (3) NRXYZ (4) NRYXZ 
140. Rima and Shyam start from a fixed point. Rima moves 5 km westward and turns left and then covers 6 km. Shyam  
 moves 7 km northward, turns left and walks 5 km. The distance between Rima and Shyam now is _____________. 
 5 6 

7 5 
__________. 

 5 6 
7 5  

  (1) 10 km (2) 14 km (3) 11 km  (4) 13 km 
141. Which of the following sets of signs would be needed for the given equation to be true? 
  
  
 7____ 7 _____ 7 _____ 7 ______7 = 43 
  (1) +, –, ÷, × (2) ×, ÷, +, – (3) ÷, +, ×, – (4) –, ×, ÷, + 
142. Two bus tickets from city A to B and three tickets from city A to C cost Rs. 77 but three tickets from city A to B  
 and two tickets from city A to C cost Rs. 73. What are the fares for cities B and C from A 
 A  B 2  A  C 3 77 A B 3 A  
 C 2 73 A  B C  
 A  B 2  A C 3 77 A B  
 3 A C 2 73 A B  C   
  (1) Rs. 4, Rs. 23 (2) Rs. 13, Rs. 17 (3) Rs. 15, Rs. 14 (4) Rs. 17, Rs. 13 
143. Which number replaces the question mark (?) ? 
 ‘?’  
 ‘?’  

 
  (1) 15 (2) 9 (3) 6 (4)24 
144. Seen through a mirror, the arms of a clock shows 8:50. What is the actual time? 
 8:50  
 8:50  
  (1) 5 : 50 (2) 2 : 05 (3) 4 : 10 (4) 3 : 10 
145. There are five pens 1, 2, 3, 4 and 5 of different colors, viz. Blue, Black, Maroon, Green and Red. Pen number 3 is  
 of Black color and Pen number 5 is of Green color. Which of the following pen is of Red color? 
 1, 2, 3, 4, 5 3 5 

 
 1, 2, 3, 4, 5 3 

5 
  (1) Number 1 / 1 / 1   (2) Number 3 / 3 / 3   
  (3) Data inadequate / /  (4) Number 2 / 2 / 2  
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146. Who was victimized first batter ever in cricketing history to be timed out in international cricket? 
 

 
  (1) Shakib Al Hasan / /   
  (2) Angelo Mathews / /   
  (3) Harold Heygate / /   
  (4) None of the above / / 
147. Where did the formation of ‘Azad Hind Fauj’ take Place? 
 

 
  (1) Thailand / /  (2) Singapore / /   
  (3) Russia / /   (4) Germany / /  
148. Which launcher was used for Chandrayaan-3? 
 3

3  
  (1) GSLV (2) LVSM (3) GSLV-Mk3 (4) PSLV 
149. Which one of the following trees is considered to be an environmental hazard? 
 

 
  (1) Amaltas / /  (2) Babool /   
  (3) Neem /   (4) Eucalyptus / / 
150. Mukhya Mantri Atmanirbhar Asom Abhijan aims to provide __________________ 
 __________________ 

__________________  
  (1) Employment opportunities  / /  
  (2) Free Housing facilities to Below Poverty Line Category   
    
      
  (3) Free Medical Facilities / /   
  (4) None of the above / /  
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